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QUESTION 1

ABC Travel offers a night reservation service, exposed as a web service. XYZ Stays offers a hotel reservation service,
also exposed as a web service. ABC and XYZ will not change their web service. A startup company has contacted you
for 

advice about designing a new service that combines flight and hotel reservations, which they will offer as a web service. 

The startup company plans to provide their service by implementing a portable Java EE solution that aggregates the two
services offered by ABC Travel and XYZ Stays, a combined reservation succeeded. 

Only if both the flight reservation and the hotel reservation succeed 

Which is the most effective way to meet the business requirement? 

A. The startup company should implement their new service as a web service that uses an XA transaction manager. 

B. The startup company cannot implement their new service as a web service, but must use an enterprise JavaBean
(EJB) component to gain transaction propagation. 

C. The startup company should implement their new service as a web service by calling the two existing services, and
implementing their own compensating transaction. 

D. The startup company can implement their new service as a web service by calling the two existing services in a
single transaction, relying on transaction propagation to support this business rule. 

Correct Answer: C 

 

QUESTION 2

You are designing a bank application in which automated email reminders are sent to customers every 24 hours,
starting from five days prior to a payment due date until the payment is made? Which type of beans most closely match
the implementation needs for this requirement? 

A. Stateful session bean 

B. Stateless session bean 

C. Managed bean 

D. Message-driven bean 

Correct Answer: D 

 

QUESTION 3

Which two statements apply to unsigned applets? 

A. They can access the client file system. 

B. They can connect to third-party servers. 
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C. They can connect to the originating host. 

D. They can invoke public methods of applets on a page. 

E. They can load native libraries. 

Correct Answer: CD 

 

QUESTION 4

Which two statements are true about delegation as an Object-Oriented Design technique? 

A. It is applied to a system only at compile time. 

B. It is an essential element of the Singleton pattern. 

C. It allows you to replace Inheritance with composition. 

D. In Java technology, it is always implemented through the use of generics. 

E. It always requires that at least two objects are involved in handling a request. 

Correct Answer: CE 

 

QUESTION 5

You are integrating with a single legacy Enterprise Information System. You are interested in the transaction
management capabilities of Java Connector Architecture. This new system needs the capability to invoke multiple
operations against this single legacy system. these operations succeeded together or fail together as a group. 

To which minimum level of transaction management do you set your resource adapter? 

A. No transaction 

B. Local transaction 100% Real QandAs | 100% Real Pass 

C. Distributed transaction 

D. Container-managed transaction 

Correct Answer: B 
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